pirs | ks | #E | seES® | wRe | eme [TOERE
1 B 5 7 1301823kt 3528 86.74 86.74 I=A
1 TR % 37028 3skskkokstokok k6646 86.54 86.54 §=k
1 TP I 370685%kkskkskkk 4021 84.30 84.30 =
2 2= ke @ 370284 4skkkk43648 91.40 91.40 &
2 25 B @ 37021 1ssksksksiokkk (0029 90.00 90.00 =
2 (BES 5’ 15040255kt 922 85.80 85.80 27
3 B 5’8 37021 Lkstksotokkk 1526 92.7 92.70 B
3 hVEEL S 370284k kkk5%%6420 91.8 91.80 B
3 bezS il @ 370284 kkskkskskk k6022 91.2 91.20 =
3 e i 370284k 3328 90 90.00 B
3 I 5% 7He 5y 37068 2skkskkskkkkG 422 89.8 89.80 I
3 N i 370982k 8048 87 87.00 B
3 1] T g8 370283kttt k622X 85.8 85.80 &
3 Wt 5y 370284tk 6729 85.48 85.48 P
3 5 5y 370284 xkskkskkkk 3627 83.6 83.60 =
5 T £’y 370284skkksk0kkk 242X 89.8 89.80 5=
5 =k 5 37028 1 skskksiokkk3918 84.6 84.60 I
5 HES i 371425%sksk80042 84.4 84.40 B
7 TG '8 370284skskkskkok:044 7 90.60 90.60 B
7 ]IS 5’8 37078 4sskskstk46220 86.80 86.80 27
7 G A 7 370203skkkkkkkx4549 82.60 82.60 B
w1, 2|
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7 AEE @z 370284 xskskskskekekk4628 82.00 82.00 =
8 h AR Mg 7 370284k k%5323 87.6 87.60 B
8 155 5S 370284 kkskkskskk k3629 814 81.40 =
8 EH T 370282 kskskskkskkk 3027 77.6 77.60 =




